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. the most primitiv
eist C) Smooth muscle
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) Card:taacl gﬂzc,e D) Cardiac & smooth
B)S g’ﬁecuon of sarcoplasmic reticulum and tubule Is called as:
Th%ia o C) Tetracular
A)-m'muSCU’a" body , D) All of theso
B(),W are muscles attached to bones?
4) Cartilage C) Ligament
p) Tendon _ D) Osleocyles
whlgh two mugcles are in your upper arm?
A) Biceps gnd triceps . C) Biceps and hamstrings
B) Hamstrmgs a_nd quadriceps ; D) Biceps and thigh
Which rpuscle is adapted to be highly resistant to fatigue?
B) Stiped D) Voluntary
oluntary
Thick-filaments in skeletal muscle are composed of
A) Actin . C) Troponin
B) Myosin D) Tropomyosin

Which of the following statements regarding the shortening of a =muscle fiber is not true? When a

skeletal-muscle fiber shortens the:

A) Sarcomeres shorten C) The distance betwgeen Z lines decreases
B) The myofilaments shorten D) The myofilaments/slide past each other
In skeletal muscle, calcium facilitates contraction by binding t

A) Tropomyosin C) Troponin

B) Actin D) Myosin

Rigor mortis occurs in a dead animal because: _

A) ATP, which is necessary for the detachment of cross bridges, is npt being formed

B) ATP, which is necessary for the formation of cross bridges, is not Being formed

C) ATP, which is necessary for the formation of cross bridges, continudg to be formed for several hours after
death
D) Deterioration of muscle proteins prevents detachment of cross bridges
An action potential in the motor end plate rapidly spreads to the central p rtions of a muscle cell by

means of the

A) Z lines C) H zone

B) Sarcoplasmic reticulum D) Transverse tubules
How many types of protein is present in the thin filament?

A) 1 C)3

B) 2 D) 4

What may be the alternative name for man if the below diagram is a sarcomere?

A) Actin C) ATP
B) Myosin D) Calcium
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13. The term “Motor unit” refers to:
A) A single motor neuron plus all the muscle fibres it inr
B) A single muscie fibre plus all of the motor neurons th
C) All of the motor neurons supplying a single muscle
D) A pair of antagonistic muscles
14, The functions of tropomyosin in skeletal muscle include:
A) Sliding on actin to produce shortening
B) Releasing Ca?* after initiation of contraction
C) Binding to myosin during contraction
D) Acting as a "relaxing protein" at rest
15. Which of the following statements

about the structure of skeletal muscle is not correct?
A) Myofibres of skeletal muscle cells contain numerous myofibrils that are divided into sarcomeres

B) The arrangement of thick myosin and thin aclin filaments give lhe sarcomeres of skeletal muscle a striated

appearance under the microscope
t each end of the sarcomeres have the actin filaments attached to them

C) In skeletal muscle Z discs of proteins a
D) The arrangement of thin myosin and thick actin filaments give the sarcomeres of skeletal muscle a striated

appearance under the microscope
16. The graphs given below illustrate the activity of two muscles.
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Select the correct option
A) Muscle A is more active than B
B) Muscle B is more energetic than A
C) Muscle A showed the excessive activity than B
D) Muscle B showed the excessive activily than A,
17. Which of the following statements about the contraction of skeletal muscle is correct?
A) The power stroke of skeletal muscle contraction occurs when the myosin head hydrolyses ATP
B) The power stroke of skeletal muscle contraction occurs when the myosin head binds ATP

C) The power stroke of skeletal muscle contraction occurs when the myosin head releases ATP
rs when the myosin head releases ADP and Pi

D) The power stroke of skeletal muscle contraction occu
18. Which of the following statements about the role of calcium (Ca?*) during skeletal muscle contraction is

correct?

A) Ca?'released into a myofibril by the action of a nerve impulse binds to a site on the myosin head to initiate
contraction ; ' , .

B) Ca? released into a myofibril by the aclion of a nerve impulse binds 1o a site on tropomyosin to initiate
contraction . _ o ) o .

a nerve impulse binds to a site on the actin to initiate contraction

C) Ca?* released into a myofibril by the action of
D) Ca?* released into a myofibril by the action of

Contraction

a nerve impulse binds to a site on troponin to initiate

19. The muscle bundle is covered by : o
A) Epimysium C) Perimysium
B) Endomysium D) Mesomysium
20. The energy of muscle contraction is derived from the following except:
A) ATP C) Creatine phosphate
B) Muscle glycogen D) All of these
21. cardiac Muscles are present in which of following wall of heart.
A) Epicardium C) Endocardium
B) Myocardium D) All of these.
22. All about the Sarcomere are true except:
Is the distance between two Z membranes

A) Is the distance between myosin and actin C) -
B) Is the contractile unite of the muscle D) Shorten when the muscle contracts
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Which of the following is not g

A) Muscle fatj ssocj :
Igue lated with
ev)hl\_ﬂuscle cramps C)“%gtr:rional deficiency or lethargy?
2 ich muscles are Maximum j D) Tet Y y
) Skeletal in human bogy? anus

B) Cardi
el C) Smooth

Bones and carti
ilage consij — D
g\; ?Olla'gen sist of living cells en:lf‘e“dzrsdpirestﬁnt in almost equal number
nsulin C . 1N the matrix of protein: ’
Bon ) Keratin protein:
A) Tgntccj)o?‘one attachment is by: + D) Fibrinogen
B) Nerves C) Muscles

Sacrum is form
A) Two bones

Ligament

ed b i 1
Y the fusion of anterior
————Vertebrae of Pelvic region:

B) Three bones C)F
An inflam g1 pourbones

A) He t.r_natory or degenerative dise D) Five bones

B) Artf\a itis. ase that damages the joint is

ritis C) Anthrax :
Pick up wrist bo - D) Meningi
nes . eningitis
A. tarsals. from following. °
B metatarsal C carpal

D metacarpals.

and radi joi
adius form...... Joint at their Distal end with carpals

A ball and socket

B Hinge C multistag
How man : i D pivot
ia el y bones in appnendicular skeleton are there.
B 126 - C 206
facial bones ; 2 D 300
A26 contains ..... paired and --...unpaired bones respectively.
B 2,4 ¢ 4.2
g D6,2
Stiffness of body after death is .
g post martum C rigor mortis
B[opsy ' D All of these
The J.omt which allows movement in several direction is
A Hinge C saddle
B ball and socket D pivot
The joint between radius and ulna are .
A multistage C yes
B pivot ‘ D sutures.
pick up the muscle of tongue from following. _
A Skeletal C Cardiac
B Smooth _ ~ DA&B
The smallest contractile unit of muscle fiber is ' _
A dark band C sarcoplasmic reticulum
B sarcomere D myofubril
Skeletal Muscle cell looks non striated Wheg\(_l,?v:]ed \L,\J/grder
igh po
A ultra power D electron microscope

B Low power
Myofibril contains, .o oy C thin filament
A_m_y.oﬁbril Mﬂom \ D muscle fiber

B thick filament

The diameter of thin filament is -
i D10—-10100um
el tion is

Secondary Source of muscle contrac = calciurlr:
asabi " D All of these.
B creatinine phosphate.

H Zone is a part of . sgrcomere
A dark band 5 7 line

B light band
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44, Which of following ion is responsible for muscle contraction

A Ca CM
B Fe ' D Nag
45, Muscle contraction is based on

A All and all principal C All and None principal

B None and None principal D it Don’t depe inci

' _ : nd on any principal

46. which of following have many nuclei per cell P Y PIne
A smooth muscle C Cardiac muscle

B Skeletal Muscle D All are multinucleate

47. The muscles of urinary Bladder and blood vessel are

A smoqth - C Skeletal

B Cardiac D All of these
48. Pick up a 3 polypeptide protein from following.

A actin C Tropomyosin.

B myosin D troponine
49. During muscle contraction bond will be form between.

A Actin and myosin
B myosin and troponine

C actin myosin and troponine

D actin and Tropomyosin

50. T system extends and Encircle the myofibril at the level of :
A A band : C Zline and | junction
B Z line D M line and | junction
51. The contraction of Cardiac muscles is caused by:
A spontaneous C Stretch - .
B Nervous and Hormonal D All of these.
5Z. Total muscles in our body are
A 206 C 650
B 605 D 300
93. Where does head of femur articulate .
A Glenoid cavity C Foramen
B Acetabulum. D shoulder bone
54. Ribs cage consist of total bones
A12 C 25
B 24 D 28
55. The respiratory protein in muscle is '
A Hemoglobin C Troponine
B Myoglobin D All of these
56. Pick up Palm bones from following
A tarsal Ccarpals Wmmifqb
B metatarsal D phalanges
57.  Pick up longest bone of the body
A Humerus C femur
B ulna D vertebral column
58. Each myosin molecule has a tail terminating in. = 8
A Two globular heads C linear head
B Two tails D flat head
59. Wrist bones in man are
A8 C 56
B 16 D 28
60. When more energy is required to contract then it is provided by
A ATP C lactic acid
B phospho creatinine DAandB
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